
Differentiation Rules 

General Formulas 

𝟏.  
𝒅
𝒅𝒙

(𝒄) = 𝟎 ,𝑤ℎ𝑒𝑟𝑒 𝒄 𝑖𝑠 𝑎 𝑐𝑜𝑛𝑠𝑡𝑎𝑛𝑡 𝟐.
𝒅
𝒅𝒙

[𝒄𝒇(𝒙)] = 𝒄𝒇′(𝒙) 

𝟑.
𝒅
𝒅𝒙

[𝒇(𝒙) + 𝒈(𝒙)] = 𝒇′(𝒙) + 𝒈′(𝒙) 𝟒.
𝒅
𝒅𝒙

[𝒇(𝒙) − 𝒈(𝒙)] = 𝒇′(𝒙) − 𝒈′(𝒙) 

𝟓.
𝒅
𝒅𝒙

[𝒇(𝒙)] = 𝒇(𝒙)𝒈′(𝒙) + 𝒈(𝒙)𝒇′(𝒙)    𝑷𝒓𝒐𝒅𝒖𝒄𝒕 𝑹𝒖𝒍𝒆 𝟔.
𝒅
𝒅𝒙 �

𝒇(𝒙)
𝒈(𝒙)�

=
𝒈(𝒙)𝒇′(𝒙)− 𝒇(𝒙)𝒈′(𝒙)

[𝒈(𝒙)]𝟐       𝑸𝒖𝒐𝒕𝒊𝒆𝒏𝒕 𝑹𝒖𝒍𝒆 

𝟕.
𝒅
𝒅𝒙

𝒇�𝒈(𝒙)� = 𝒇′(𝒈(𝒙))𝒈′(𝒙)     𝑪𝒉𝒂𝒊𝒏 𝑹𝒖𝒍𝒆 𝟖.
𝒅
𝒅𝒙

(𝒙𝒏) = 𝒏𝒙𝒏−𝟏       𝑷𝒐𝒘𝒆𝒓 𝑹𝒖𝒍𝒆 

 

Exponential and Logarithmic Formulas 

𝟗.  
𝒅
𝒅𝒙

(𝒆𝒙) = 𝒆𝒙 𝟏𝟎.
𝒅
𝒅𝒙

(𝒂𝒙) = 𝒂𝒙 𝐥𝐧𝒂 

𝟏𝟏.
𝒅
𝒅𝒙

𝐥𝐧|𝒙| =
𝟏
𝒙

 𝟏𝟐.
𝒅
𝒅𝒙

(𝐥𝐨𝐠𝒂 𝒙) =
𝟏

𝒙 𝐥𝐧𝒂
 

 

Trigonometric Formulas 

𝟏𝟑.
𝒅
𝒅𝒙

(𝐬𝐢𝐧𝒙) = 𝐜𝐨𝐬𝒙 𝟏𝟒.
𝒅
𝒅𝒙

(𝐜𝐨𝐬𝒙) = −𝐬𝐢𝐧𝒙 𝟏𝟓.
𝒅
𝒅𝒙

(𝐭𝐚𝐧𝒙) = 𝐬𝐞𝐜𝟐 𝒙 

𝟏𝟔.  
𝒅
𝒅𝒙

(𝐜𝐬𝐜 𝒙) = −𝐜𝐬𝐜𝒙 𝐜𝐨𝐭 𝒙 𝟏𝟕.
𝒅
𝒅𝒙

(𝐬𝐞𝐜𝒙) = 𝐬𝐞𝐜𝒙 𝐭𝐚𝐧𝒙 𝟏𝟖.
𝒅
𝒅𝒙

(𝐜𝐨𝐭 𝒙) = −𝐜𝐬𝐜𝟐 𝒙 

 

Inverse Trigonometric Formulas 

𝟏𝟗.
𝒅
𝒅𝒙 �

𝐬𝐢𝐧−𝟏 𝒙� =
𝟏

√𝟏 − 𝒙𝟐
 𝟐𝟎.

𝒅
𝒅𝒙 �

𝐜𝐨𝐬−𝟏 𝒙� = −
𝟏

√𝟏 − 𝒙𝟐
 𝟐𝟏.

𝒅
𝒅𝒙 �

𝐭𝐚𝐧−𝟏 𝒙� =
𝟏

𝟏 + 𝒙𝟐
 

𝟐𝟐.  
𝒅
𝒅𝒙 �

𝐜𝐬𝐜−𝟏 𝒙� = −
𝟏

𝒙√𝒙𝟐 − 𝟏
 𝟐𝟑.

𝒅
𝒅𝒙 �

𝐬𝐞𝐜−𝟏 𝒙� =
𝟏

𝒙√𝒙𝟐 − 𝟏
 𝟐𝟒.

𝒅
𝒅𝒙 �

𝐜𝐨𝐭−𝟏 𝒙� = −
𝟏

𝟏 + 𝒙𝟐
 

 

 

 

 



Table of integrals 

Basic Forms 

𝟏.�𝒖𝒅𝒗 = 𝒖𝒗 −�𝒗𝒅𝒖     (𝑩𝒚 𝑷𝒂𝒓𝒕𝒔) 𝟏𝟏.�𝐜𝐬𝐜𝒖 𝐜𝐨𝐭𝒖𝒅𝒖 = −𝐜𝐬𝐜𝒖 + 𝑪 

𝟐.�𝒖𝒏𝒅𝒖 =
𝒖𝒏+𝟏

𝒏 + 𝟏
+ 𝑪, 𝒏 ≠ 𝟏 𝟏𝟐.�𝐭𝐚𝐧𝒖𝒅𝒖 = 𝐥𝐧|𝐬𝐞𝐜𝒖| + 𝑪 

𝟑.�
𝟏
𝒖
𝒅𝒖 = 𝐥𝐧|𝒖| + 𝑪 𝟏𝟑.�𝐜𝐨𝐭𝒖𝒅𝒖 = 𝐥𝐧|𝐬𝐢𝐧𝒖| + 𝑪 

𝟒.�𝒆𝒖𝒅𝒖 =  𝒆𝒖 + 𝑪 𝟏𝟒.�𝐬𝐞𝐜𝒖𝒅𝒖 = 𝐥𝐧|𝐬𝐞𝐜𝒖 + 𝐭𝐚𝐧𝒖| + 𝑪 

𝟓.�𝒂𝒖𝒅𝒖 =
𝒂𝒖

𝐥𝐧𝒂
+ 𝑪 𝟏𝟓.�𝐜𝐬𝐜𝒖𝒅𝒖 = 𝐥𝐧|𝐜𝐬𝐜𝒖 − 𝐜𝐨𝐭𝒖| + 𝑪 

𝟔.�𝐬𝐢𝐧𝒖 𝒅𝒖 = −𝐜𝐨𝐬𝒖 + 𝑪 𝟏𝟔.�
𝟏

√𝒂𝟐 − 𝒖𝟐
𝒅𝒖 = 𝐬𝐢𝐧−𝟏

𝒖
𝒂

+ 𝑪 

𝟕.�𝐜𝐨𝐬𝒖𝒅𝒖 = 𝐬𝐢𝐧𝒖 + 𝑪 𝟏𝟕.�
𝟏

𝒂𝟐 + 𝒖𝟐
𝒅𝒖 =

𝟏
𝒂
𝐭𝐚𝐧−𝟏

𝒖
𝒂

+ 𝑪 

𝟖.�𝐬𝐞𝐜𝟐 𝒖𝒅𝒖 = 𝐭𝐚𝐧𝒖 + 𝑪 𝟏𝟖.�
𝟏

𝒖√𝒖𝟐 − 𝒂𝟐
𝒅𝒖 =

𝟏
𝒂
𝐬𝐞𝐜−𝟏

𝒖
𝒂

+ 𝑪 

𝟗.�𝐜𝐬𝐜𝟐 𝒖𝒅𝒖 = −𝐜𝐨𝐭𝒖 + 𝑪 𝟏𝟗.�
𝟏

𝒂𝟐 − 𝒖𝟐
𝒅𝒖 =

𝟏
𝟐𝒂

𝐥𝐧 �
𝒖 + 𝒂
𝒖 − 𝒂�

+ 𝑪 

𝟏𝟎.�𝐬𝐞𝐜𝒖 𝐭𝐚𝐧𝒖𝒅𝒖 = 𝐬𝐞𝐜𝒖 + 𝑪 𝟐𝟎.�
𝟏

𝒖𝟐 − 𝒂𝟐
𝒅𝒖 =

𝟏
𝟐𝒂

𝐥𝐧 �
𝒖 − 𝒂
𝒖 + 𝒂�

+ 𝑪 

 

Forms Involving     �𝒂𝟐 + 𝒖𝟐,𝒂 > 𝟎 

𝟐𝟏.��𝒂𝟐 + 𝒖𝟐𝒅𝒖 =
𝒖
𝟐
�𝒂𝟐 + 𝒖𝟐 +

𝒂𝟐

𝟐
𝐥𝐧 �𝒖 +�𝒂𝟐 + 𝒖𝟐� + 𝑪 

𝟐𝟐.�𝒖𝟐�𝒂𝟐 + 𝒖𝟐𝒅𝒖 =
𝒖
𝟖 �
𝒂𝟐 + 𝟐𝒖𝟐��𝒂𝟐 + 𝒖𝟐 −

𝒂𝟒

𝟖
𝐥𝐧 �𝒖 + �𝒂𝟐 + 𝒖𝟐� + 𝑪 

𝟐𝟑.�
�𝒂𝟐 + 𝒖𝟐

𝒖
𝒅𝒖 = �𝒂𝟐 + 𝒖𝟐 − 𝒂 𝐥𝐧 �

𝒂 + �𝒂𝟐 + 𝒖𝟐

𝒖 � + 𝑪 

𝟐𝟒.�
�𝒂𝟐 + 𝒖𝟐

𝒖𝟐
𝒅𝒖 = −

�𝒂𝟐 + 𝒖𝟐

𝒖
+ 𝐥𝐧 �𝒖 + �𝒂𝟐 + 𝒖𝟐� + 𝑪 

𝟐𝟓.�
𝟏

�𝒂𝟐 + 𝒖𝟐
𝒅𝒖 = 𝐥𝐧 �𝒖 +�𝒂𝟐 + 𝒖𝟐 + 𝑪� 

 

𝟐𝟔.�
𝒖𝟐

�𝒂𝟐 + 𝒖𝟐
𝒅𝒖 =

𝒖
𝟐
�𝒂𝟐 + 𝒖𝟐 −

𝒂𝟐

𝟐
𝐥𝐧 �𝒖 + �𝒂𝟐 + 𝒖𝟐� + 𝑪 



𝟐𝟕.�
𝟏

𝒖�𝒂𝟐 + 𝒖𝟐
𝒅𝒖 =  −

𝟏
𝒂
𝐥𝐧 �

�𝒂𝟐 + 𝒖𝟐 + 𝒂
𝒖 � + 𝑪 

𝟐𝟖.�
𝟏

𝒖𝟐�𝒂𝟐 + 𝒖𝟐
𝒅𝒖 =  −

�𝒂𝟐 + 𝒖𝟐

𝒂𝟐𝒖
+ 𝑪 

𝟐𝟗.�
𝟏

(𝒂𝟐 + 𝒖𝟐)𝟑/𝟐 𝒅𝒖 =  
𝒖

𝒂𝟐�𝒂𝟐 + 𝒖𝟐
+ 𝑪 

 

Forms Involving     √𝒂𝟐 − 𝒖𝟐,𝒂 > 𝟎 

𝟑𝟎.��𝒂𝟐 − 𝒖𝟐𝒅𝒖 =
𝒖
𝟐
�𝒂𝟐 − 𝒖𝟐 +

𝒂𝟐

𝟐
𝒔𝒊𝒏−𝟏

𝒖
𝒂

+ 𝑪 

𝟑𝟏.�𝒖𝟐�𝒂𝟐 − 𝒖𝟐𝒅𝒖 =
𝒖
𝟖 �
𝟐𝒖𝟐 − 𝒂𝟐��𝒂𝟐 − 𝒖𝟐 +

𝒂𝟒

𝟖
𝐬𝐢𝐧−𝟏

𝒖
𝒂

+ 𝑪 

𝟑𝟐.�
√𝒂𝟐 − 𝒖𝟐

𝒖
𝒅𝒖 = �𝒂𝟐 − 𝒖𝟐 − 𝒂 𝐥𝐧 �

𝒂 + √𝒂𝟐 − 𝒖𝟐

𝒖 � + 𝑪 

𝟑𝟑.�
√𝒂𝟐 − 𝒖𝟐

𝒖𝟐
𝒅𝒖 = −

√𝒂𝟐 − 𝒖𝟐

𝒖
− 𝐬𝐢𝐧−𝟏

𝒖
𝒂

+ 𝑪 

𝟑𝟒.�
𝒖𝟐

√𝒂𝟐 − 𝒖𝟐
𝒅𝒖 = −

𝒖
𝟐
�𝒂𝟐 − 𝒖𝟐 +

𝒂𝟐

𝟐
𝐬𝐢𝐧−𝟏

𝒖
𝒂

+ 𝑪 

𝟑𝟓.�
𝟏

𝒖√𝒂𝟐 − 𝒖𝟐
𝒅𝒖 =  −

𝟏
𝒂
𝐥𝐧 �

𝒂+ √𝒂𝟐 − 𝒖𝟐

𝒖 � + 𝑪 

𝟑𝟔.�
𝟏

𝒖𝟐√𝒂𝟐 − 𝒖𝟐
𝒅𝒖 =  −

√𝒂𝟐 − 𝒖𝟐

𝒂𝟐𝒖
+ 𝑪 

𝟑𝟕.��𝒂𝟐 − 𝒖𝟐�𝟑/𝟐𝒅𝒖 =  −
𝒖
𝟖 �
𝟐𝒖𝟐 − 𝟓𝒂𝟐��𝒂𝟐 − 𝒖𝟐 +

𝟑𝒂𝟒

𝟖
𝐬𝐢𝐧−𝟏

𝒖
𝒂

+ 𝑪 

𝟑𝟖.�
𝟏

(𝒂𝟐 − 𝒖𝟐)𝟑/𝟐 𝒅𝒖 =  
𝒖

𝒂𝟐√𝒂𝟐 − 𝒖𝟐
+ 𝑪 

 

 

 

Forms Involving     √𝒖𝟐 − 𝒂𝟐,𝒂 > 𝟎 

𝟑𝟗.��𝒖𝟐 − 𝒂𝟐𝒅𝒖 =
𝒖
𝟐
�𝒖𝟐 − 𝒂𝟐 −

𝒂𝟐

𝟐
𝐥𝐧 �𝒖 + �𝒖𝟐 − 𝒂𝟐� + 𝑪 

𝟒𝟎.�𝒖𝟐�𝒖𝟐 − 𝒂𝟐𝒅𝒖 =
𝒖
𝟖 �
𝟐𝒖𝟐 − 𝒂𝟐��𝒖𝟐 − 𝒂𝟐 −

𝒂𝟒

𝟖
𝐥𝐧 �𝒖 + �𝒖𝟐 − 𝒂𝟐� + 𝑪 

𝟒𝟏.�
√𝒖𝟐 − 𝒂𝟐

𝒖
𝒅𝒖 = �𝒖𝟐 − 𝒂𝟐 − 𝒂𝐜𝐨𝐬−𝟏

𝒂
|𝒖| + 𝑪 



𝟒𝟐.�
√𝒖𝟐 − 𝒂𝟐

𝒖𝟐
𝒅𝒖 = − 

√𝒖𝟐 − 𝒂𝟐

𝒖
+ 𝐥𝐧 �𝒖 + �𝒖𝟐 − 𝒂𝟐� + 𝑪 

𝟒𝟑.�
𝟏

√𝒖𝟐 − 𝒂𝟐
𝒅𝒖 = 𝐥𝐧 �𝒖 + �𝒖𝟐 − 𝒂𝟐� + 𝑪 

𝟒𝟒.�
𝒖𝟐

√𝒖𝟐 − 𝒂𝟐
𝒅𝒖 =

𝒖
𝟐
�𝒖𝟐 − 𝒂𝟐 +

𝒂𝟐

𝟐
𝐥𝐧 �𝒖+ �𝒖𝟐 − 𝒂𝟐� + 𝑪 

𝟒𝟓.�
𝟏

𝒖𝟐√𝒖𝟐 − 𝒂𝟐
𝒅𝒖 =

√𝒖𝟐 − 𝒂𝟐

𝒂𝟐𝒖
+ 𝑪 

𝟒𝟔.�
𝟏

(𝒖𝟐 − 𝒂𝟐)𝟑/𝟐 𝒅𝒖 =  −  
𝒖

𝒂𝟐√𝒖𝟐 − 𝒂𝟐
+ 𝑪 

 

Forms Involving     𝒂 + 𝒃𝒖 

𝟒𝟕.  �
𝒖

𝒂 + 𝒃𝒖
𝒅𝒖 =

𝟏
𝒃𝟐

(𝒂 + 𝒃𝒖 − 𝒂 𝐥𝐧|𝒂 + 𝒃𝒖|) + 𝑪 

𝟒𝟖.�
𝒖𝟐

𝒂 + 𝒃𝒖
𝒅𝒖 =

𝟏
𝟐𝒃𝟑 �

(𝒂 + 𝒃𝒖)𝟐 − 𝟒𝒂(𝒂 + 𝒃𝒖) + 𝟐𝒂𝟐 𝐥𝐧|𝒂 + 𝒃𝒖|� + 𝑪 

𝟒𝟗.�
𝟏

𝒖(𝒂 + 𝒃𝒖)
𝒅𝒖 =

𝟏
𝒂
𝐥𝐧 �

𝒖
𝒂+ 𝒃𝒖�

+ 𝑪 

𝟓𝟎.�
𝟏

𝒖𝟐(𝒂 + 𝒃𝒖)
𝒅𝒖 =  −

𝟏
𝒂𝒖

+
𝒃
𝒂𝟐

𝐥𝐧 �
𝒂 + 𝒃𝒖
𝒖 � + 𝑪 

𝟓𝟏.�
𝒖

(𝒂 + 𝒃𝒖)𝟐 𝒅𝒖 =
𝒂

𝒃𝟐(𝒂+ 𝒃𝒖) +
𝟏
𝒃𝟐

𝐥𝐧|𝒂 + 𝒃𝒖| + 𝑪 

𝟓𝟐.�
𝟏

𝒖(𝒂 + 𝒃𝒖)𝟐 𝒅𝒖 =
𝟏

𝒂(𝒂 + 𝒃𝒖)
−
𝟏
𝒂𝟐

𝐥𝐧 �
𝒂 + 𝒃𝒖
𝒖 � + 𝑪 

𝟓𝟑.�
𝒖𝟐

(𝒂 + 𝒃𝒖)𝟐 𝒅𝒖 =
𝟏
𝒃𝟑 �

𝒂 + 𝒃𝒖 −
𝒂𝟐

𝒂 + 𝒃𝒖
− 𝟐𝒂 𝐥𝐧|𝒂 + 𝒃𝒖|�+ 𝑪 

𝟓𝟒.�𝒖√𝒂 + 𝒃𝒖 𝒅𝒖 =
𝟐

𝟏𝟓𝒃𝟐
(𝟑𝒃𝒖 − 𝟐𝒂)(𝒂 + 𝒃𝒖)𝟑/𝟐 + 𝑪 

𝟓𝟓.�
𝒖

√𝒂 + 𝒃𝒖
𝒅𝒖 =

𝟐
𝟑𝒃𝟐

(𝒃𝒖 − 𝟐𝒂)√𝒂 + 𝒃𝒖 + 𝑪 

𝟓𝟔.�
𝒖𝟐

√𝒂 + 𝒃𝒖
𝒅𝒖 =

𝟐
𝟏𝟓𝒃𝟑 �

𝟖𝒂𝟐 + 𝟑𝒃𝟐𝒖𝟐 − 𝟒𝒂𝒃𝒖�√𝒂 + 𝒃𝒖 + 𝑪 



𝟓𝟕.�
𝟏

𝒖√𝒂 + 𝒃𝒖
𝒅𝒖 =

𝟏
√𝒂

𝐥𝐧 �
√𝒂 + 𝒃𝒖 − √𝒂
√𝒂 + 𝒃𝒖 + √𝒂

� + 𝑪,   𝒊𝒇 𝒂 > 𝟎 

 

                                        =
𝟐

√−𝒂
𝐭𝐚𝐧−𝟏 �

𝒂 + 𝒃𝒖
−𝒂

+ 𝑪,     𝒊𝒇 𝒂 < 𝟎 

𝟓𝟖.�
√𝒂 + 𝒃𝒖

𝒖
𝒅𝒖 = 𝟐√𝒂 + 𝒃𝒖 + 𝒂�

𝟏
𝒖√𝒂 + 𝒃𝒖

𝒅𝒖 

𝟓𝟗.�
√𝒂 + 𝒃𝒖

𝒖𝟐
𝒅𝒖 =  −

√𝒂 + 𝒃𝒖
𝒖

+
𝒃
𝟐
�

𝟏
𝒖√𝒂 + 𝒃𝒖

𝒅𝒖 

𝟔𝟎.�𝒖𝒏√𝒂 + 𝒃𝒖 𝒅𝒖 =
𝟐

𝒃(𝟐𝒏 + 𝟑) �
𝒖𝒏(𝒂 + 𝒃𝒖)𝟑/𝟐 − 𝒏𝒂�𝒖𝒏−𝟏√𝒂 + 𝒃𝒖  𝒅𝒖� 

𝟔𝟏.�
𝒖𝒏

√𝒂 + 𝒃𝒖
𝒅𝒖 =

𝟐𝒖𝒏√𝒂 + 𝒃𝒖
𝒃(𝟐𝒏 + 𝟏)

−
𝟐𝒏𝒂

𝒃(𝟐𝒏 + 𝟏)
�

𝒖𝒏−𝟏

√𝒂 + 𝒃𝒖
𝒅𝒖 

𝟔𝟐.�
𝟏

𝒖𝒏√𝒂 + 𝒃𝒖
𝒅𝒖 = −

√𝒂 + 𝒃𝒖
𝒂(𝒏 − 𝟏)𝒖𝒏−𝟏

−
𝒃(𝟐𝒏 − 𝟑)
𝟐𝒂(𝒏 − 𝟏)

�
𝟏

𝒖𝒏−𝟏√𝒂 + 𝒃𝒖
𝒅𝒖 

 

Trigonometric Forms 

𝟔𝟑.∫ 𝐬𝐢𝐧𝟐 𝒖𝒅𝒖 = 𝟏
𝟐
𝒖 − 𝟏

𝟒
𝐬𝐢𝐧𝟐𝒖 + 𝑪  𝟕𝟒.∫ 𝐜𝐨𝐬𝒏 𝒖𝒅𝒖 = 𝟏

𝒏
𝐜𝐨𝐬𝒏−𝟏 𝒖 𝐬𝐢𝐧𝒖 + 𝒏−𝟏

𝒏 ∫ 𝐜𝐨𝐬𝒏−𝟐 𝒖 𝒅𝒖   

𝟔𝟒.∫ 𝐜𝐨𝐬𝟐 𝒖𝒅𝒖 = 𝟏
𝟐
𝒖 + 𝟏

𝟒
𝐬𝐢𝐧𝟐𝒖 + 𝑪  𝟕𝟓.∫ 𝐭𝐚𝐧𝒏 𝒖 𝒅𝒖 = 𝟏

𝒏−𝟏
𝐭𝐚𝐧𝒏−𝟏 𝒖 − ∫ 𝐭𝐚𝐧𝒏−𝟐𝒖 𝒅𝒖  

𝟔𝟓.∫ 𝐭𝐚𝐧𝟐 𝒖 𝒅𝒖 = 𝐭𝐚𝐧𝒖 − 𝒖 + 𝑪  𝟕𝟔.∫ 𝐜𝐨𝐭𝒏 𝒖 𝒅𝒖 = −𝟏
𝒏−𝟏

𝐜𝐨𝐭𝒏−𝟏 𝒖 − ∫𝐜𝐨𝐭𝒏−𝟐𝒖 𝒅𝒖  

𝟔𝟔.∫ 𝐜𝐨𝐭𝟐 𝒖 𝒅𝒖 =  −𝐜𝐨𝐭𝒖 − 𝒖 + 𝑪  𝟕𝟕.∫ 𝐬𝐞𝐜𝒏 𝒖 𝒅𝒖 =  𝟏
𝒏−𝟏

𝐭𝐚𝐧𝒖 𝐬𝐞𝐜𝒏−𝟐 𝒖 + 𝒏−𝟐
𝒏−𝟏 ∫ 𝐬𝐞𝐜

𝒏−𝟐 𝒖𝒅𝒖   

𝟔𝟕.∫ 𝐬𝐢𝐧𝟑 𝒖 𝒅𝒖 =  −𝟏
𝟑
�𝟐 + 𝐬𝐢𝐧𝟐 𝒖� 𝐜𝐨𝐬𝒖 + 𝑪  𝟕𝟖.∫ 𝐜𝐬𝐜𝒏 𝒖 𝒅𝒖 = −𝟏

𝒏−𝟏
𝐜𝐨𝐭𝒖 𝐜𝐬𝐜𝒏−𝟐 𝒖 + 𝒏−𝟐

𝒏−𝟏 ∫ 𝐜𝐬𝐜
𝒏−𝟐 𝒖𝒅𝒖  

𝟔𝟖.∫ 𝐜𝐨𝐬𝟑 𝒖 𝒅𝒖 =  𝟏
𝟑
�𝟐 + 𝐜𝐨𝐬𝟐 𝒖� 𝐬𝐢𝐧𝒖 + 𝑪  𝟕𝟗.∫ 𝐬𝐢𝐧𝒂𝒖 𝐬𝐢𝐧𝒃𝒖𝒅𝒖 = 𝐬𝐢𝐧(𝒂−𝒃)𝒖

𝟐(𝒂−𝒃) − 𝐬𝐢𝐧(𝒂+𝒃)𝒖
𝟐(𝒂+𝒃) + 𝑪  

𝟔𝟗.∫ 𝐭𝐚𝐧𝟑 𝒖 𝒅𝒖 =  𝟏
𝟐
𝐭𝐚𝐧𝟐 𝒖 + 𝐥𝐧|𝐜𝐨𝐬𝒖| + 𝑪  𝟖𝟎.∫ 𝐜𝐨𝐬𝒂𝒖 𝐜𝐨𝐬𝒃𝒖𝒅𝒖 = 𝐬𝐢𝐧(𝒂−𝒃)𝒖

𝟐(𝒂−𝒃) + 𝐬𝐢𝐧(𝒂+𝒃)𝒖
𝟐(𝒂+𝒃) + 𝑪  

𝟕𝟎.∫  𝐜𝐨𝐭𝟑 𝒖 𝒅𝒖 =  −𝟏
𝟐
𝐜𝐨𝐭𝟐 𝒖 − 𝐥𝐧|𝐬𝐢𝐧𝒖| + 𝑪  𝟖𝟏.∫ 𝐬𝐢𝐧𝒂𝒖 𝐜𝐨𝐬𝒃𝒖𝒅𝒖 = − 𝐜𝐨𝐬(𝒂−𝒃)𝒖

𝟐(𝒂−𝒃) − 𝐜𝐨𝐬(𝒂+𝒃)𝒖
𝟐(𝒂+𝒃) + 𝑪  

𝟕𝟏.∫ 𝐬𝐞𝐜𝟑 𝒖𝒅𝒖 = 𝟏
𝟐
𝐬𝐞𝐜𝒖 𝐭𝐚𝐧𝒖 + 𝟏

𝟐
𝐥𝐧|𝐬𝐞𝐜𝒖 + 𝐭𝐚𝐧𝒖| + 𝑪  𝟖𝟐.∫𝒖𝐬𝐢𝐧𝒖 𝒅𝒖 =  𝐬𝐢𝐧𝒖 − 𝒖𝐜𝐨𝐬𝒖 + 𝑪  

𝟕𝟐.∫ 𝐜𝐬𝐜𝟑 𝒖 𝒅𝒖 =  −𝟏
𝟐
𝐜𝐬𝐜 𝒖 𝐜𝐨𝐭𝒖 + 𝟏

𝟐
𝐥𝐧|𝐜𝐬𝐜𝒖 𝐜𝐨𝐭𝒖| + 𝑪   𝟖𝟑.∫𝒖𝐜𝐨𝐬𝒖 𝒅𝒖 =  𝐜𝐨𝐬𝒖 + 𝒖𝐬𝐢𝐧𝒖 + 𝑪  

𝟕𝟑.∫ 𝐬𝐢𝐧𝒏 𝒖𝒅𝒖 =  −𝟏
𝒏
𝐬𝐢𝐧𝒏−𝟏 𝒖 𝐜𝐨𝐬𝒖 + 𝒏−𝟏

𝒏 ∫ 𝐬𝐢𝐧𝒏−𝟐 𝒖 𝒅𝒖   𝟖𝟒.∫𝒖𝒏 𝐬𝐢𝐧𝒖𝒅𝒖 = −𝒖𝒏 𝐜𝐨𝐬𝒖 + 𝒏∫𝒖𝒏−𝟏 𝐜𝐨𝐬𝒖𝒅𝒖  

𝟖𝟓.∫𝒖𝒏 𝐜𝐨𝐬𝒖𝒅𝒖 = 𝒖𝒏 𝐬𝐢𝐧𝒖 − 𝒏∫𝒖𝒏−𝟏 𝐬𝐢𝐧𝒖𝒅𝒖  



 

𝟖𝟔.∫ 𝐬𝐢𝐧𝒏 𝒖 𝐜𝐨𝐬𝒎 𝒖𝒅𝒖 =  − 𝐬𝐢𝐧𝒏−𝟏 𝒖𝐜𝐨𝐬𝒎+𝟏 𝒖
𝒏+𝒎

+ 𝒏−𝟏
𝒏+𝒎∫ 𝐬𝐢𝐧

𝒏−𝟐 𝒖 𝐜𝐨𝐬𝒎 𝒖𝒅𝒖  𝒐𝒓 𝐬𝐢𝐧
𝒏+𝟏 𝒖 𝐜𝐨𝐬𝒎−𝟏 𝒖

𝒏+𝒎
+ 𝒎−𝟏

𝒏+𝒎∫ 𝐬𝐢𝐧
𝒏 𝒖 𝐜𝐨𝐬𝒎−𝟐 𝒖 𝒅𝒖  

         
 

 

 

Inverse Trigonometric Forms 

𝟖𝟕�𝐬𝐢𝐧−𝟏 𝒖  𝒅𝒖 = 𝒖 𝐬𝐢𝐧−𝟏 𝒖 + �𝟏 − 𝒖𝟐 + 𝑪 

𝟖𝟖.�𝐜𝐨𝐬−𝟏 𝒖  𝒅𝒖 = 𝒖𝐜𝐨𝐬−𝟏 𝒖 − �𝟏 − 𝒖𝟐 + 𝑪 

𝟖𝟗.�𝐭𝐚𝐧−𝟏 𝒖 𝒅𝒖 = 𝒖 𝐭𝐚𝐧−𝟏 𝒖 −
𝟏
𝟐
𝐥𝐧�𝟏 + 𝒖𝟐� + 𝑪 

𝟗𝟎.�𝒖𝐬𝐢𝐧−𝟏 𝒖 𝒅𝒖 =  
𝟐𝒖𝟐 − 𝟏

𝟒
𝐬𝐢𝐧−𝟏 𝒖 +

𝒖√𝟏 − 𝒖𝟐

𝟒
+ 𝑪 

𝟗𝟏.�𝒖𝐜𝐨𝐬−𝟏 𝒖 𝒅𝒖 =  
𝟐𝒖𝟐 − 𝟏

𝟒
𝐜𝐨𝐬−𝟏 𝒖 −

𝒖√𝟏 − 𝒖𝟐

𝟒
+ 𝑪 

𝟗𝟐.�𝒖𝐭𝐚𝐧−𝟏 𝒖 𝒅𝒖 =  
𝒖𝟐 + 𝟏
𝟐

𝐭𝐚𝐧−𝟏 𝒖 −
𝒖
𝟐

+ 𝑪 

 

𝟗𝟑.�𝒖𝒏 𝐬𝐢𝐧−𝟏 𝒖𝒅𝒖 =  
𝟏

𝒏 + 𝟏
�𝒖𝒏+𝟏 𝐬𝐢𝐧−𝟏 𝒖 − �

𝒖𝒏+𝟏𝒅𝒖
√𝟏 − 𝒖𝟐

� ,𝒏 ≠ −𝟏 

 

𝟗𝟒.�𝒖𝒏 𝐜𝐨𝐬−𝟏 𝒖𝒅𝒖 =  
𝟏

𝒏 + 𝟏
�𝒖𝒏+𝟏 𝐜𝐨𝐬−𝟏 𝒖 + �

𝒖𝒏+𝟏𝒅𝒖
√𝟏 − 𝒖𝟐

� ,𝒏 ≠ −𝟏 

𝟗𝟓.�𝒖𝒏 𝐭𝐚𝐧−𝟏 𝒖𝒅𝒖 =  
𝟏

𝒏 + 𝟏
�𝒖𝒏+𝟏 𝐭𝐚𝐧−𝟏 𝒖 − �

𝒖𝒏+𝟏𝒅𝒖
𝟏 + 𝒖𝟐

� ,𝒏 ≠ −𝟏 

 

Exponential and Logarithmic Forms 

𝟗𝟔.�𝒖𝒆𝒂𝒖𝒅𝒖 =  
𝟏
𝒂𝟐

(𝒂𝒖 − 𝟏)𝒆𝒂𝒖 + 𝑪 

𝟗𝟕.�𝒖𝒏𝒆𝒂𝒖𝒅𝒖 =  
𝟏
𝒂
𝒖𝒏𝒆𝒂𝒖 −

𝒏
𝒂
�𝒖𝒏−𝟏𝒆𝒂𝒖𝒅𝒖 

𝟗𝟖.�𝒆𝒂𝒖 𝐬𝐢𝐧𝒃𝒖𝒅𝒖 =  
𝒆𝒂𝒖

𝒂𝟐 + 𝒃𝟐
(𝒂𝐬𝐢𝐧𝒃𝒖 − 𝒃𝐜𝐨𝐬𝒃𝒖) + 𝑪 

𝟗𝟗.�𝒆𝒂𝒖 𝐜𝐨𝐬𝒃𝒖𝒅𝒖 =  
𝒆𝒂𝒖

𝒂𝟐 + 𝒃𝟐
(𝒂𝐜𝐨𝐬𝒃𝒖 + 𝒃 𝐬𝐢𝐧𝒃𝒖) + 𝑪 

𝟏𝟎𝟎.�𝐥𝐧𝒖 𝒅𝒖 = 𝒖 𝐥𝐧𝒖 − 𝒖 + 𝑪 

𝟏𝟎𝟏.�𝒖𝒏 𝐥𝐧𝒖𝒅𝒖 =  
𝒖𝒏+𝟏

(𝒏 + 𝟏)𝟐
[(𝒏 + 𝟏) 𝐥𝐧𝒖 − 𝟏] + 𝑪 

𝟏𝟎𝟐.�
𝟏

𝒖 𝐥𝐧𝒖
𝒅𝒖 =  𝐥𝐧|𝐥𝐧𝒖| + 𝑪 

 



Hyperbolic Forms 

𝟏𝟎𝟑.�𝐬𝐢𝐧𝐡𝒖𝒅𝒖 =  𝐜𝐨𝐬𝐡𝒖 + 𝑪 𝟏𝟎𝟖.�𝐜𝐬𝐜𝐡𝒖 𝒅𝒖 =  𝐥𝐧 �𝐭𝐚𝐧𝐡
𝟏
𝟐
𝒖� + 𝑪 

𝟏𝟎𝟒.�𝐜𝐨𝐬𝐡𝒖𝒅𝒖 =  𝐬𝐢𝐧𝐡𝒖 + 𝑪 𝟏𝟎𝟗.�𝐬𝐞𝐜𝐡𝟐 𝒖 𝒅𝒖 =  𝐭𝐚𝐧𝐡𝒖 + 𝑪 

𝟏𝟎𝟓.�𝐭𝐚𝐧𝐡𝒖 𝒅𝒖 =  𝐥𝐧 𝐜𝐨𝐬𝐡𝒖 + 𝑪 𝟏𝟏𝟎.�𝐜𝐬𝐜𝐡𝟐 𝒖 𝒅𝒖 =  −𝐜𝐨𝐭𝐡𝒖 + 𝑪 

𝟏𝟎𝟔.�𝐜𝐨𝐭𝐡𝒖𝒅𝒖 = 𝐥𝐧|𝐬𝐢𝐧𝐡𝒖| + 𝑪 𝟏𝟏𝟏.�𝐬𝐞𝐜𝐡𝒖 𝐭𝐚𝐧𝐡𝒖𝒅𝒖 =  −𝐬𝐞𝐜𝐡𝒖 + 𝑪 

𝟏𝟎𝟕.�𝐬𝐞𝐜𝐡𝒖 𝒅𝒖 =  𝐭𝐚𝐧−𝟏|𝐬𝐢𝐧𝒖| + 𝑪 𝟏𝟏𝟐.�𝐜𝐬𝐜𝐡𝒖 𝐜𝐨𝐭𝐡𝒖𝒅𝒖 =  −𝐜𝐬𝐜𝐡𝒖 + 𝑪 

 

 

Forms Involving     √𝟐𝒂𝒖 − 𝒖𝟐 , 𝒂 > 𝟎 

𝟏𝟏𝟑.�  �𝟐𝒂𝒖− 𝒖𝟐 𝒅𝒖 =  
𝒖 − 𝒂
𝟐

 �𝟐𝒂𝒖− 𝒖𝟐 +
𝒂𝟐
𝟐 𝐜𝐨𝐬−𝟏 �

𝒂 − 𝒖
𝒂 �+ 𝑪 

𝟏𝟏𝟒.�𝒖 �𝟐𝒂𝒖− 𝒖𝟐 𝒅𝒖 =  
𝟐𝒖𝟐 − 𝒂𝒖− 𝟑𝒂𝟐

𝟔  �𝟐𝒂𝒖− 𝒖𝟐 +
𝒂𝟑
𝟐 𝐜𝐨𝐬−𝟏 �

𝒂 − 𝒖
𝒂 �+ 𝑪 

𝟏𝟏𝟓.�
 �𝟐𝒂𝒖− 𝒖𝟐 

𝒖
𝒅𝒖 =   �𝟐𝒂𝒖− 𝒖𝟐 + 𝒂𝐜𝐨𝐬−𝟏 �

𝒂 − 𝒖
𝒂 �+ 𝑪 

𝟏𝟏𝟔.�
 �𝟐𝒂𝒖− 𝒖𝟐 

𝒖𝟐
𝒅𝒖 =  −

𝟐�𝟐𝒂𝒖− 𝒖𝟐 
𝒖

−𝐜𝐨𝐬−𝟏 �
𝒂 − 𝒖
𝒂 �+ 𝑪 

𝟏𝟏𝟕.�
𝒅𝒖

�𝟐𝒂𝒖− 𝒖𝟐 
=  𝐜𝐨𝐬−𝟏 �

𝒂 − 𝒖
𝒂 � + 𝑪  

𝟏𝟏𝟖.�
𝒖𝒅𝒖

�𝟐𝒂𝒖− 𝒖𝟐 
=  −�𝟐𝒂𝒖− 𝒖𝟐 + 𝒂𝐜𝐨𝐬−𝟏 �

𝒂 − 𝒖
𝒂 �+ 𝑪 

𝟏𝟏𝟗.
𝒖𝟐𝒅𝒖

�𝟐𝒂𝒖− 𝒖𝟐 
=  −

(𝒖 + 𝟑𝒂)
𝟐

�𝟐𝒂𝒖− 𝒖𝟐 +
𝟑𝒂𝟐
𝟐 𝐜𝐨𝐬−𝟏 �

𝒂 − 𝒖
𝒂 �+ 𝑪 

𝟏𝟐𝟎.�
𝒅𝒖

𝒖�𝟐𝒂𝒖− 𝒖𝟐 
=  −

�𝟐𝒂𝒖− 𝒖𝟐 
𝒂𝒖

+ 𝑪 

 

 


